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carrying two (02) marks. All the guestions ure co

1. DNA fingerprinting uses a specific
type of DNA sequence, known as :

(A) Palindromic sequence
(B)” Microsatellite DNA
(C) Chimeric DNA

(D) CDNA.

.. Which of the following statements
regarding enzyme inhibition 18
correct ?

(A) Non-competitive inhibition
of an enzyme can be

overcome by adding large
‘amount of substrate

\[]?/ Competitive inhibition is

seen when the substrate
and the inhibitor compete
for the active site on the
enzyme

(C) Non-competitive inhibitors
often bind to the enzyme
irreversibly

(D) Competitive inhibition is
seen when a substrate
competes with an enzyme
for binding to as inhibitor

e i

[

stions, each question

mpulsory-

3. Which of the following 1%

correct in DNA 7

A forms 2 hydrogen bonds
«ih% a; T forms 3
hydrogen bonds with €

(A)

(B) A forms 3 hydrogen bonds

with T; G Jorms 2
hydrogen bonds with C

A forms 2 covalent bonds

with T: G forms 9 covalent

(€)

bonds with C

Dy " A forms 2 hydrogen bonds
with T- G forms S

hydrogen bonds with C

4. When cancer cells gain the

ability to move independently

and invade other Tissucs, the

are said to have:

(A) Evolved



Which one of the following is

5. mﬂi:‘ of the following g
e _ ;
referred to as 'a;:uﬂ:t.:::::::h WI . :‘E hﬂtgcj‘!ff:]-
(Ay” Allopatric species relationships of plants?
(B) Sympatric species (A} Cytotaxonomy
(C) r-selected specics (B} Experimental Taxonomy
[C} Numerical Taxonony
(D) K-selected specics . (D} Chemotaxonomy
6. The hormones sccreted by the 10. Discovery of new Specks has
hypothalamus in the region of recently pu:‘jc.::l up due w0
median eminence are carned initiatives under the pxrtctr-"
to adenchypophysis by which <
one of the following ? (a) Species 2000
by Global diversity and
(A) Hypophyseal stalk information facility
(B physeal portal system {c) Agenda 21
€) Pituitary atall (dy Chmate change.
(D) Neurohypophysis .@ul/ {a) and (b)
7. The major type of bond between ()
antigen and antibody is (C) (@), (b, and [c)
(A) Hyd = band (D) All of the above
(B) Covalent 11. The chromosomal palierm of
\[.9/ Hydrophobic interactions Klinefelter's syndrome 13
(D) van der Waals force. (A) XXX
8. The molecular weight of a v
protein molecule is 14.4 kDa, (C) XO
what would be the minimum
number of aucleotides in the (D) XYY
NA from where this protemn
8 grnthems:d? %ssumﬂ that 12. The major amino acids n
the molecular weight of each histone
amino acid of the protein is
80 Da Arginine, Lysine and
Histidine
. () 60 (B) Glutamate and Aspartc
 (B) 180 acid
fi‘, cf 240 - (C) Lysine and Arginine
‘(D) 540 ' . (D) Histidine
3 PITﬁ -
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8. 1o which ype of cells of uman
miitochondna are abaent P

Al Liver Cells

() Beain Cells
() Exthrooytes
(1) Osteoblasts

14, Ecocline is

(A} transient region between
S~ o adjacent communities

(B) transient region between
two adjacent species

{C) transient region between
two adjacent ecolypes

(D) transient region between
two adjacent forest

(A) Primed by RNA primer
m wmwﬁi‘xdﬂ'ﬂﬂuﬂ
(C) United to form laggng strand
g'.ﬁﬂﬂl'mc above

16. You are given 17 meiotic- cell
divisions. With these divisions
how many sceds are possible ?
How many Iﬂul:ﬂ gra'mg will be
wasted ?

Ay 17 seeds and 3 pollen
grains

mlal{:nhlmn-lmth
A m,mum‘u and select the o
gorrect using codes -
Column-1 Column-il
l 1 mpholphnry:mmn ';"
it l ' of Cdk 1 | o
1 2. Phosphorylation of
(b) suc s
(c)um | 3. Negative control of
wee 1
4. Converls M form of
B cdk-1 10 S form
Codes : (8 @ @
@/l RS L 4 o O
® 3 1 4 2
< 2 E 3 1
D) 4 3 2 1
18. Match the items of Column-l
with those of Column-il and
select the correct match using
codes :
Column-1 Column-I1
(a) HPM shunt 1. Inner ‘
- mitochondnal
membranc
(b) Russell bodies 2. Initiates
respiratory
burst in
phagocytc
neutrophils
(¢) Cytochromes 3. Stimulates
6-phosphatase
(d) Glucagon 4. Plasma cells
Codes: (@ () (©
1 3 4
4 2 1
4" 1 3
2 3 1



19. Match the items of Column-1 with
those of Column-1l and select the
correct match using codes |

Column-1 Column-II
ja) white blood cells 1. Thymus gland
{bj body cclls in 2, Macrophages

which viruses are
reproducmg are
defended by
{o} anaphylaxis 3. Cytotoxic T cells

id} maturation of T cells 4. Bee sting
Codes : (a) (b (c) )

(A) 1 2 4 3
(B) 3 4 1 2
(C) 4 1 3 2

2 3 4 1

o
20. Match the items of Calumn-I with
those of Column-Il and gelect the

Lot -
Lo TR TR

a1. Mawch the fromn i t".rﬂumﬂ-l
with those ol Column i anil
{ correct paakeh by Vi

B oo
the coden glven Vit b
Column-I Column-il
{n} Homopolyirer ol 1, Peptice el
phienylalaning frmation

(b Pephidyl irapslerane 2 Hemovil ol
(N As Trom e

[T

milcules

(¢) Aminoacy! LRNA 1. Polymerone 1

gynthetase
4. Amino ey

(d) Ribonuclease ¥
o mehvaton

Codes ; [(u) (b ) ()
THRR SRR o
1) - AR 7
45) 3 3 4 \
D) 3 A 2 |

22. Match the Hems of Column 1 with

those ol Column-ll and select the
correct mateh using codes !
Column-1l
1. Ribosomes
2. Lipid storage

3. Lysosomes

Column-I

(@) Acid hydrolases
(b) Protein factory
(c) Elaioplasts

(d) Photorespiration

@ @® © @

4. Peroxisomes

correct match using codes
Column-I Column-II
(a) epigenetic |, participates in acuve
transcription of DNA
to mRNA
(b} euchromatin 2. when molecule
’ relieves helical
\ gtress by twisting
around tsell
{c} supercoiling 3. severe reduction i
| population size
(d) bottleneck 4. signal for formation
of a regional
cenlromere appears
to be
Codes: (@ (B (© @
' P o < 3K
1 2. 13
2 1 4x
gomssrg ok

Codes :
TN, TR
g B) A 1 3 2
M § PR, A
7 ST R
P.T.0.









reticulum, Golgi compilex,
lysosomes and vacuoles.
Reason (R) : Mitochondria,
chloroplast and peroxisomes
are not the part of
endomembrane system
because their functions are
not coordinated with the

same.

Codes :

J(U/. th (Ass) and (R) are truec

d (R} 1s ¢ correct
lanation of [Ass)

(B) Both [Ass) and (R} are true
but (R) is not the correct
explanation of (Ass)

(C) (Ass) is true but (R) is false

D) Both (Ass) and (R} are false

Ba
fan
exp

32. Two statements are given below,
one is Assertion (Ass) and the

other is Reason (R). Select the
correct answer from the codes
given below :

Assertion (Ass) : Viruses are
not included in any
system of classification.

Reason (R) : Viruses are
nonliving but develop
living characters  like
multiplication etc. when
they come in contact with

suitable host.

Codes :

(A] Both [Ass) and (R) are true
and (R) is the correct
‘xplanation of (Ass)

) /Both (Ass) and (R) are true
; but (R} is not the correct
olanation of (Ass)

(O) [Ass) is true but (R) is false
- (D) Both (Ass) and (R} are false

for the
33, Select uﬂ':‘“"‘ s using codes
ate in the peimtve carth
[ “E“‘m:itﬂll -dupllﬁ'ﬂ"“l agETeRates
of : surrounded by liped
motecules

(i} First Wing OTRATISITIE worr
hﬂmﬂmph:
(s Reproductive isolation does
L pot let evolution 10 ooCur
ation bnings

(i) Reproductive 180l

about sympatric speciation
Codes : (1) () iy W)
(A) False True Faisc False

(B) False True True False

Iplnty_- False False True
(D) False True False True

34. Select the correct answer from the
following statements Using codes

{1) Plasmodesmata connect actin
fibres of onec cell o the
extracellular matnx of another

() An individual with two
g normal sets of autosomes
% ! and a single X-chromosome
‘ Turner's syndrame
(iii) Zinc is a co-factor for the
proteolytic enZVme
carboxypeptidase
(ivy Mutatons resulting 10
addition or deletion of a base
within a ﬁﬂﬂ ame &E‘mﬁhﬂl
mutation
Codes : (i) () () (¥
(A) False True True True
(B) Pfue True True False

True False False, True
{DT:WH'M False True

£\

" Fr |












47. The ray florets in Asternceac
famnily are characterized by the

presence of —

(A)/ Unisexual, female OF

~" npeuter, zygomorphic
epigynous flowers whose
sepals are modified into
pappus

(B} Unisexual female oOF
pneuter, actinomorphic,
hypogynous flowers
without modified sepals

(C) Bisexual, gygomorphic
hypogynous Oowers with
sepals modified into

pappus
Bisexual, actionomorphic,

(D)
epigynous flowers with
modified sepals into
pappus

48. Which one of the following is

the correct sequence of flow of
electrons in the photochemical

reaction of photosynthesis?

MS-H. plastoguinone,
cytochromes, ps-1 and
ferredoxin

(B) PS-I, plastoguinone,
cytochromes, pPs-11 and

ferredoxin

(C) PS-l, ferredoxin and PS-1I

(D) PS-1, plastoquinone,

wﬂmﬂ'w‘t s By .--._ B
ﬂft-h: . ; er ? l' _J,' 5.

VMW““W L

Initiation of transcription

@) Inigation of transiation

Memuvni of introns
(D) Termination of
transcription

The end point of succession can
be determined by:
(A) ecesic causes
[B) biotic causes
cy edaphic J

climatic causcs

S1l.

East India is contaminated with

some 1oxic compoun

of the following organisms are

ass to be most affected ?

(€)

cytochromes, PS-11 and
ferredoxin
Paper-1I / LSc

(D) Water birds
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&0. Select the correct answer from
the following statements using
codes ;

a. Neurotransmitiers arec
produced and released DY
nerve and muscle cells.

b.  After their release, neuro:
transmitters act on A

rgel ared and produce
binlogical effects.

c. Acetylcholine 1s a neuro-
transmitter at neuro-
muscular junction.

d. Serotoenin is a neuro-
transmitter with excitatory
function.

Codes ;- 2 b c d
7 True True False False

(B) False True
(C) True False
(D) False False

True False

True Tru?

51. Seclect the correct answer from

the following statements using

codes :

a. Three unliked families of

enes are responsible for
immunoglobulin molecule
structure.

b. One family of gene is

ponsible for the chains

A and x.

heavy chain of
Immuno obulin molecule
is encoded by four gene
segments.

d. Antigen specilic
immunoglobulin molecules
are generated by
rearrangement of the
various VL, JL and CL
segments in the genome.

h & b c d

(A) False False True True
(B) , True False True “True
¢y True True False False
(D) False True True False

True False

) answer from
the ﬂﬂﬁ#{mmgnts using

the following
FUd“ prans i omerism il
5 Scl:;:zrsi c,otr'tpﬂuﬂdﬂ with €
double bonds. e
\ Eu Hre
b- ?ﬂhf;éué;ngjlc ﬂ‘E’PgIaﬂEﬁ:L;::Tl b
f nydroxy! group gtt:#r l?’:}:
o carbon o
sugar by an amino Eroup {
Manng ami 18 tacn{
2 impor t constituen )
mu:opmtcm
SCS
Cyclic AMF depres
' P nsphnrjlass activily-
- el
=
Codes : a b
(A) _ True True False False
Fals False True True
(€) False True False False
rue False

Code

(A) False True
(B)

14

In haemoglobin, iron 1S
attached with globin
protein by hydrogen
bonds.

Fossa ovalis of mammalian
heart is the remnant of
embryonic sinus venosus.

The frequent micturition
due to decrease
yasopressin s called @&
diabetes insipidus. .
In a resting nerve cell
tassium concentration 1s
more on the outside of the

membrane.
8 : a b

c d

True False
False False True Truc
True False True False
True True False True
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&4. Following statements are either
True or False. Select the correct
nnsm:f from the codes given
a. The AG" of a reaction can
be calculated from its K.

b. The rate of reaction
depends on the activation
cnergy.

¢. The change in [rec encrgy
determines the direction of
a chemical reaction.

d. In biological system cells
can transform one type of
energy into another.

Codes : a b c d

(A) False True True Fal

( True True True True
[C) True False False Falsed
(D) False False False True

65. Examine the following statements
and select the correct answer
from the codes given below :

a. Flow of energy in any

ecosystem is multi-
directional. <

b. Omnivores are generalist
feeders.

f Heterotrophic organisms
literally feed themselves.

Food chain can be used to
demonstrate the biologi
fate at individual atoms.

60, Following =

or False.
the codes paven

Non-coding RNAS reguials

DNA

& RNA splicing
] +
replication and gENE
regulation.

b. Gene duplication 15 th;
mechanism throu *fvht-::_
new genelic material 15

nerated during rnnh:-:uiar

evaluuon

Gene amplification usually
gccurs 1n mitosis.
unit of ribasome

d small sub-
binds to 5 end of 1RNA.
Codes : @ b c d
(A) False True True False
(B) True False True True
False

False True False
True True False False

Jf/
D)

67. Following stalements are either
True or False. Select them from

the codes given below :
a. Methylation can change
the activity of a DNA
ent without changing

the sequence.

b. Actwvator inhibits the
interaction between RNA
polymerase and a
particular promoter.

c. miRNA response elements

(MREs) are sequences o

which miRNA cannot bind.

Ribozymes have diverse

structures and mechanism

to accomplish functions.

Codes : =2 b c d
(A) True False True False

False True False True

True False False True

False True True False

PITI“‘A

d.

D)



68, Select the correct anpwer from
the following statements using
codes given below :

a.  An antibody is a molecule
that specifically, innctivales
an antigen.

b. Major phagoeytic cells are
lymphocytes.

¢. T-lymphocytes first mature
in Thymus.

d.  The cells that agtually
release the antibodies are
plasma cells.

Codes : a &) - d

(A) True False False True

(H) lse True False Trusd
True. False True
] False Trl.ﬁ True

True

False
Examine the following
statements and find out the
correct answer by using codes

given below ;
a. Allopatric species are
OCCUpYyIng different

geographical areas,

b, Sibling species are one of
two or more species that
do not resemble one
another and cannot
interbreed.

¢c. Sympatric species are
distantly related species
living in one common
locality.

d. Genetic species are the
group of organisms that
may inherit characters
from each other’s common

gene pool.
Codes : a b ¢ d
(A) True True False True
(B) True False False True
/' True True False False
/ LSc

t pnSWer for the

Ey/Tme False True False

1. Select the correct answer for the
following statements using codes :
a. Cell wall matrix ctm:.int'nf
hemicellulose,  pectin,
glycoprotein, lipid and water.

b,  Fungus, chitin m are
made of bundle of unbranched
chain of @ -acetyl glucosamine
residue.

¢. Plant cell wall may have
lignin for strength and
silica for stifiness

d. Middle lamella of cell wall
is made up of Phosphorus

and Magnesium pectate.
Codes : a b C d

(Alf" False True True False
(B)Ux False True False True
€} AIr False True False
Mﬁ: True True False

16

fn:f:twfinn atptements Ui,
codes
P}“‘?‘tﬂ Are responnbe
¥ wm:quiﬂd ity
for th"__"}'m that designied
¥ to develop the ceollula.
(mmunity migrate
U8,
. t:" Were
E E*l}.mphufnyﬂﬂﬂﬂ IMATTI N
and hence the name [
l}rmphar.:yiﬂ.
d. Helper T.cells destroy
" foreign organisms by
prod antibodies.

Codes : @ b C d |
(A) False True True Falsc S8
(B) False False True True j
(C) True True False False |
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to ,':é'm%l:ctm:;tnts are given ¢ answer from
e B
* the codes given belogy = from the codes: ent
. a.  Operon | : 5 Sustainable developti=T e
el 2 8o is primarily. &% i88M8 e
ey structural genes Mot nvestment in developing
B (zanscription s reguiaies COUnTEES,  juyelopment 1o
i SLLALE b, tia :
Pl‘ﬂmu?rn ':II;E:“F!-_UIHm.—‘ e wﬁhW
by - o A at W"WL
- B ,:f SHTnator genes. vEpnd c. i{n%%incﬂva of sustainable
-3 i Hnm:ﬂgn”iﬂﬂ sequenc 4 dcyclﬂpmgnl is I:'!‘ldﬂ"lﬁ tj-l'e
e element of pro e use 0O nnn*rﬁﬂﬂ‘"Bhﬂ
gene, : promoter reSOLLCeS. e
e A re . ; d. The concept of gusLAINALTE
k- tuanﬁ;llumr protein binds development first evoked B
B i vt e 1672, during the Ber
abp ssion when ifiducer is summit of Riode Janeiro
sent. codie it = % g a
In the repressible system True True False False
_;;Eprtssc:r protein False False False True
v regulator gene is active (C) True False True Truc
2 b = d - (D) False False True False
g {7 True
'_ﬁ-] Fal S5 Trieialse 75. Select the correct answer from
3 {,G) se False False True the following statements using
) True False the codes:
. (D) False Tru fiyie tale a. Building of dams for
ik e False True h;.rdrm:.'::c:tric: powers in
A (~ hilly rivers of Hnnh-ﬂt:ﬁ:,
w3, Examine t ) region 18 environmentalis
. statement & fnllowing sustainable.
B et msﬁ ﬂr}d select the b, River linking through
= bel R T the codes artificial water channels ¢
e grven oW : mf ight prove to be disastrous \
" o The Forest Act ¥ or aquatic biodversity.
Sl nacted .. Concrete embankment of
in India in 1925. : :
T &y : aquatic bodies  are¢
The Biodiversity Act of beneficial for the
Iﬂdm was _passed by th a._rpphihian_spccics as it
Indian Parliament in 2000. might provide them with
National Wwildlife Protection - d %:;t?; ?;E;‘E:‘?éﬁcih -
ﬁﬂt : * was passed in 19?2/ ~ environment may resultin
WRWWG extinction because |
started in India in 1988. organisms may not have
b c d time to adapt. °
False True True: Codes : 4 - ¥ d
Arue True True Falsﬂﬁ i e, Toue AR asiees
o TR, : (B) True False False True
‘False False True True (C) False False True True
False True True False \{]?/False True True
2 . S
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B0 Twan mlatemiiie
i l‘tﬂl"ﬂ Taslisw T T e i hﬂm
Onve (8 Aswiriian (Ass) and the .'T.'T.‘. ';:ﬂ'::"ﬂ";?;':n“l M‘:ﬁ L other
| Wher iy Feasin () Balect ynial e Romsien (1), 803 | the correet
corpedt answer fum the wen i atygwer Trom the cotes pivet g
given balow helow
Assertion (Ast) | (0 atanly ol Assertion (ASS) q e
vines 110 CRCELIEY \ parate P I %
i v bl Iﬂuu:ml_n:! ot in i acic m:-tnbn'l’:.ﬁt{ﬂ
Ly apcepting he 4
: (W) ¢ Tnsohony wiiid groups Fom most. of the
: LRI UL WY PR AT AR PTRLLLALE peiels.
w : teanon ﬂl.'] 1 The umtnntmnnw
m- Bhathy (Ansl andd (R) are i, minascH nre ["-'”-1“'-1' n
anid (R) & the vorpe \ pucheus of cells ﬂ"-l‘“"-lﬂl'-“'-“
""““thll'l i [ﬂnql the hnd-?
m m'“l {ﬁin' LAl Codes !
I,N'I are e, :
N bt (R e Bat the oo .::.{ Ay Both (Asn) and (R) are true
explatintion ol (Ann) and (R) 18 the cofr rect
¢ explanation of (Ass)
(C)  (Ans) In Lrue Pyt (1) ia Tiadwey!
D ' () Both (Asw) and (R} are true
(D) Moth (Assl andd (K) are falsed Bt (R) is not the correct
ﬂp‘lﬂ]‘iﬂ.ﬂﬂﬁ of (Ass)
91. Two statemonta are given Lelow M;‘.uﬂ] s true but (R) 18 lalsce
() Both (Ass) and (R) are false

One s Ansertion (Ans) and the
given helow,

other s Reason (). Select youb
corredt AEwWer froin the coden 93. Two llﬂfﬂl‘lmﬁlﬁ nre
piven below | one 8 Assertion (Ass] and the
Assertion (Ass) ! (DT shown other is reason R). Select the
Bloaccumulation in food correct answer from the codes
chain, T below
Reason (R) t"ﬂDT {a non: Assertion (Ass) ° Emrupt}ic
biodegradable and cannol Eﬁ;‘ﬂf‘;‘{ “;“:;,ﬂ:ﬁ;;‘u
e mutnhulimd in the phytop '
organisins body. Reason (R) : futrophic lakes
Codes ! n A contain low axygen content.
L )
(A}~ Both and (R) are true,
\9/11“! tFR.;lll tll:lr::}l nnr:T:l (A} Hm&h &‘:‘“""ERT?d lti:'} are truc:
Hl'plllnl't.iuﬂ an (S is the correct
@) Both {au:“;: (Ass) explanation of (Ass)
i pa [E o e (8)Both (Ass) and (R) are e
exolanat { but (R) is not the correct
planation 8 (Ass) explanation of (Ass)
(C) (Ass) is true but (R) 1s false

(C) (Ass) is true, but (R) is false
(D) Both (Ass) and (R) are false

Paper-Il / LS¢

are false
?‘T iu -

(D) Both (Ass) and ()
21
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